3

V.

For the best experience, open this PDF portfolio in
Acrobat X or Adobe Reader X, or later.

Get Adobe Reader Now!



http://www.adobe.com/go/reader


EDGE DIVING SYSTEM:

FEATURES:
* Active Base - Spring Feature is
Derived from Both Base & Board
* Durable & Long Lasting Acrylic & Fiberglass
Construction with Advanced Composite Springs
* Board Fall Compatible Base

* Weight Limit = 300 Ibs.
® Available in 6’ or 8" Set-Ups
e Custom 4 Hole Drill Pattern

* Can be Used for Retrofit Applications with
Existing 12” on Center Techni-Spring Steel Jigs

=
<
Z
®
U
A
o
=)
c
(o]
-]
wn

Part # EDGE-BASE (6’ & 8' Edge Fiberglass Base & Jig)
Part # EDGE-SPRING (6’ & 8' Spring Assembly)

See page 117 for paver jig info.

Compatible with Epoxy Mounting Kit Part # EPX-5

NOTE: MUST ORDER 3 PARTS FOR A COMPLETE EDGE BASE AND BOARD COMBINATION.

* Refer to Available Base Colors on Pg. 7

1.5" BOLT HEIGHT /DIVING BOARD

ABOVEDECK | DECKEND / g WATER END
f = B Salt Pool)
10.5"
HOW L&ad m%“\
‘ - /"ffab on >
CONCRETE J
SLAB f————  ———
\WMER/_\J JIG BOLT PATTERN
DECK LENGTH: 8' (MIN.) WA
| DECK THICKNESS: 4" (MIN.)

DECK WIDTH: 4' (MIN.)

Optional Waterfalls:
Board Fall (basic);
Board Fall-L (LED)

EDGE DISTANCE FROM MIN. ~  MAX HEIGHT
IMPORTANT: DIVING | NOMINAL | ANsl/ | \Broict e DISTANCE FROM | OVERHANG | OF BOARD
BOARD | POOL END OF BOARD TO |  PLUS OR ABOVE
SYSTEM | \engTH | Tvpe | FORWARDJIGBOLT | copwapp Jig BOLT | MINUS 3” WATER
THESE DIMENSIONS ARE PART # (s) e thows
ACCURATE ONLY FOR
VERTICAL POOL WALLS, | EDGE-BASE| ¢’ | 31.5" 49.5" 18" 20"
TYPICALLY GUNITE
CONSTRUCTION, EDGE-BASE| ¢’ [ 31.5" 49.5" 18” 20"
WITH LESS THAN A 3’ , ,, ,, B B
RADIUS TO THE POOL | EDGE-BASE[ 6 Il 25.5 495 24 26
FLOOR. EDGE-BASE| ¢’ \Y 19.5” 49.5" 30" 30"
DUE TO THE VARYING | EDGE-BASE| ¢’ % 13.5” 49.5" 36" 40"
SIZES OF OTHER POOLS,
TYPICALLY VINYL EDGE-BASE| & | NOT ALLOWED
LINER CONSTRUCTION, ] , NOT ALLOWED
PLEASE CONTACT EDGE-BASE] 8 I
CUSTOMER SERVICE FOR | EDGE-BASE| 8’ Il 44.25" 68.25" 24" 26"
PROPER JIG PLACEMENT.
EDGE-BASE 8’ [\ 38.25" 68.25" 30” 30”
1-800-737-5386 |, \oronce| o Vv 32.25" 68.25" 36" 40"

26

TG - Rev. 7/15

To view our products online CLICK D WWW, i nte I‘-fa b .CcOMm






EDGE DIVING SYSTEM (epGE6WW, EDGE-BASE, EDGE-SPRING)S

AYARRYARY
N

(on (N on)

‘/ —\/
)
WO/

/\‘

(2}
[
194
>
(a]
o
(-4
-8
(©)
Z
2
(a]

(9
14
, 9\ s
T LS/
10— -17)
>’”/\ \_\/
— W 18
8
14
‘,""\
\] e \/\.!:5/\/
! 2
DRAWING REPRESENTS THE
FOLLOWING PART NUMBERS:
EDGE-BASE (shown) ——
EDGE-SPRING (shown) N
EDGE6WW (shown)
KITS - QTY. COUNTS
TS-BK:
S | = . .
= o ; - Base to Jig Mounting Hardware
e ] ] S
ITEM # COMPONENT DESCRIPTION 22 |2 |2
] EDGE-BASE Edge Diving Base 1 EDGE-SP: _
2 EDGE-SPRING Edge Spring 2 Spring to Base Mounting
3 EDGE-BOARD Fdge Diving Board 1 Hordware
4 TS-EDGE-J Edge Jig 1
5 Spring Pad (fadory installed) Edge Spring Pad 2 EDGE-M: . .
6 HWHT WAS/CAP IFI White Washer Cap 2 Board to Springs Mounting
7 H-55 1/2X13X4C 1/2" =13 X 4" Carriage Bolt $.5. 2 Hordware
8 H-55 1/2 F WASH 1/2" Flat Washer S.5. 4 4
9 H-55 1/2 L0C WA 1/7" Lock Washer S.5. 4 2
10 H-55 1/2 H NUT 1/2" Hex Nut $.5. 4 2
11 H-1-1/2 WHT CAP 750 x 1-1/2" White UV Nut Cap 4 2
12 H-1/2 NYLON WAS 1/2" Flat Nylon Washer 4
13 H-S5 3/8-16X2-1/2 3/8"x 21/2" Hex Head Bolt S.5. b
14 H-S5 3/8 FIT WA 3/8" Flat Washer S.5. 12 2
15 H-S5 3/8 LOC WA 3/8" Lock Washer S.5. b 2
16 H-S5 3/8X3-1/2C 3/8"x 3 1/2" Carriage Bolt S.5. 2
17 H-S5 3/8 F NUT 3/8" Finish Hex Nut S.. 2
18 H-.531 X 1.00 CAP 531 x 1.00 White Protective Cap 2
19 H-1/2 BLK WASH 1/2" x 2" dio. Black Rubber Washer 2
2 H-S5 3/8 NYLON 3/8" Nylon Insert Locknut b
21* H-ANTI-SEIZE Packet of Anti Seize Lubricant (not shown) ]

* not pictured
NOTE: EDGE6WW diving hoard shown in exploded view for illustration purposes. Must be purchased separately. [

Check your local electrical code
requirements for bonding requirements.

800.737.5386 cALL B speak to an Inter-Fab Customer Service Agent TG - Rev. 7/15 27






EDGE™ DIVING SYSTEM FOOTPRINT & JIG INFO
INTER-FAB

inter-fab.com

DIAGRAM NOTES: I: 25.75"

The overall size dimensions of
the Edge Diving System is shown

.

outside the footprint. 5
Measurements indicated on the a
dotted lines are the centerline o— - - — = 10000 *

measurements between the jig
bolts. (The jig is 12" on center.)

I

I

Inter-Fab Inc. manufactures I

the Edge Diving System for both FRONT |
new construction applications (towards pool edge]

and specific retrofit/replacement |

applications. The Edge Diving . |

System is designed to fit the < 9.50 >|

I

I

I

I

I

4.25”

same 12" on center jig pattern
of the Techni-Spring steel base,
and can be used to replace those
units in the field provided the
existing jig is in good condition.

12.00”
17.25”

As with any replacement or
retrofit installation, the installer
MUST check the original jig .- . 4
installation to make sure it =

complies with all ANSI/NSPI-5 a
2003 standards. Inter-Fab z
cannot warranty a retrofit Y
installation that does not comply
with the water envelope and
placement standards.

Rev. 5/08

INTER-FAB INC. » 800.737.5386 °* inter-fab.com








<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice



